CANDIDATE ADVERTISEMENT AGREEMENT FORM

See Order for proposed schedule and charges. See Invoice for actual schedule and charges.								
Tammie Wingrove	, hereby request station time as follows:							
IDENTIFY CANDIDATE TYPE	RAL CANDIDATE E OR LOCAL CANDIDATE							
ALL QUESTIONS/BLOCK	S MUST BE COMPLETED							
Candidate name:								
Larry Hogan								
Authorized committee:								
Hogan for Maryland Inc and NRSC								
Agency requesting time (and contact information):								
N/A Mentzer Media Services / Tammie Wingrove / 410-8	25-7034							
Candidate's political party: Republican								
Office sought (no acronyms or abbreviations): United States Senate								
Date of election: May 14, 2024	General ✔ Primary							
Treasurer of candidate's authorized committee:								
Robert Phillips								
The undersigned represents that: (1) the payment for the broadcast time requested has been fur the candidate listed above who is a legally qualified card the authorized committee of the legally qualified candi (2) this station is authorized to announce the time as paid for because of the station has disclosed its political advertising policies, included and other sales practices (not applicable to federal candidate). THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATE DI	ndidate, or date listed above; y such person or entity; and cluding applicable classes and rates, discount, promotion tes).							
Candidate/Committee/Agency	Station Representative							
Signature: Tammis Wingrove	Signature: Shawi Rodlay							
Name: Tammie Wingrove	Shoui Idodlay Name: Sherri Kladley							
Date of Request to Purchase Ad Time: 4/40/2024	Date of Station Agreement to Sell Time: 4\1\24							

to an opposing candidate or, if it does, (2) for a duration of at least four seconds and the candidate approved the broadcast an	broadcast matter to be aired pursuant to) contains a clearly identifiable photograph d a simultaneously displayed printed stater and that the candidate and/or the candidate sins a personal audio statement by the candidate has approved the broadcast.	n or similar image of the candidate ment identifying the candidate, that e's authorized committee paid for the									
Candidate/Authorized Committee/A	Agency										
Signature: Tammie Wingro	ve										
Name: Tammie Wingrove											
Date: 4/10/2024											
TO	BE COMPLETED BY STATION OF	NLY									
Ad submitted to Station? Yes	No Date ad received:	4/18/24									
Note: Must have separate PB-19 Form	ns for each version of the ad (i.e., for ϵ	every ad with differing copy).									
Federal candidate certification signed (ab	oove): Yes No	N/A									
Rejected – provide reason:	Accepted Accepted IN PART (e.g., ad copy not yet received to determine sponsor ID)*										
Date and nature of follow-ups, if any (e.g.	, insufficient sponsor ID tag):										
Contract #: 10514、10515、10516、	Station Call Letters: W FmD	Date Received/Requested: ム/ ハ つい									
Est. #: 12115, 13116, 13117, 13118	Station Location: Frederick, mD 21703	Run Start and End Dates: 4/4-4/25/24,									
use this space to document schedule of to purchased or attach separately. If station	affic system print-out) or other documents ime purchased, when spots actually aired, will not upload the actual times spots aired information immediately should be placed	reflecting this transaction to the OPIF or the rates charged and the classes of time d until an invoice is generated, the name									

Federal Candidate Certification:

KATZ MEDIA GROUP

125 West 55th Street

New York, New York 10019



Advertiser:

Larry Hogan for Senate

Order #:

176093779372

Contract #:

10514

Date Entered:

04/11/2024

Last Modified:

04/11/2024

Product:

Larry Hogan for Senate

Salesperson:

Christal National

Billing Cycle:

Christal National Broadcast Standard

Estimate #:

12115

Order Date Range: 04/17/2024 through 04/23/2024 (1 weeks)

Media Outlets: WFMD-AM

On-Air Schedule

#	<u>Dates</u>	Station	Time/Program	Len	Mo	Tu V	<u>Ve</u>	<u>Th</u>	Fr	Sa	Su S	5/W	Rate	Qty	<u>Total</u>
1	04/17/24-04/23/24	WFMD-AM	06:00AM-10:00AM	60	3	2	2	2	2			11	91.00	11	1,001.00
2	04/17/24-04/23/24	WFMD-AM	10:00AM-03:00PM	60	2	2	2	2	2			10	91.00	10	910.00
3	04/17/24-04/23/24	WFMD-AM	03:00PM-07:00PM	60	2	3	2	2	2			11	91.00	11	1,001.00

Station Totals

Station	On-Air CountDigital	Count	Web Count Oth	ner Count	Gross BillingC	ommission	Net Billing
WFMD-AM	32	0	0	0	\$2,912.00	\$436.80	\$2,475.20
Totals	32	0	0	0	\$2,912.00	\$436.80	\$2,475.20

Total Charges:

\$2,912.00

Agency Commission:

\$436.80

Total Net:

\$2,475.20

This station does not discriminate in the sale of advertising time, and will accept no advertising that is placed with an intent to discriminate on the basis of race or ethnicity. Advertiser hereby certifies that it is not buying broadcasting air time under this advertising sales contract for a discriminatory purpose, including but not limited to decisions not to place advertising on particular stations on the basis of race, national origin, or ancestry.

1		Projected Billi	ing By Broadcast Standard Mont	h	
	Month	<u>Year</u>	Gross Billing	Net Billing	
	April	2024	\$2,912.00	\$2,475.20	
:	Totals	The state of the s	\$2,912.00	\$2,475.20	į

KATZ MEDIA GROUP

125 West 55th Street

New York, New York 10019



Advertiser:

Larry Hogan for Senate

Order #:

176093779372

Contract #:

10514

Date Entered:

04/11/2024

Last Modified:

04/16/2024

Product: Salesperson: Larry Hogan for Senate

Billing Cycle:

Christal National Broadcast Standard

Estimate #:

12115

Order Date Range: 04/19/2024 through 04/23/2024 (1 weeks)

On-Air Schedule

#	Dates	Station	Time/Program	Len	Мо	Tu	Ne	Th	Fr	Sa	Su	S/W	Rate	Qty	Total
1	04/19/24-04/19/24	WFMD-AM	06:00AM-10:00AM	60					4			4	91.00	4	364.00
2	04/19/24-04/19/24	WFMD-AM	10:00AM-03:00PM	60					3			3	91.00	3	273.00
3	04/19/24-04/19/24	WFMD-AM	03:00PM-07:00PM	60					3	••		3	91.00	3	273.00
4	04/22/24-04/22/24	WFMD-AM	06:00AM-10:00AM	60	3							3	91.00	3	273.00
5	04/22/24-04/22/24	WFMD-AM	10:00AM-03:00PM	60	4							4	91.00	4	364.00
6	04/22/24-04/22/24	WFMD-AM	03:00PM-07:00PM	60	4							4	91.00	4	364.00
7	04/23/24-04/23/24	WFMD-AM	06:00AM-10:00AM	60		4						4	91.00	4	364.00
8	04/23/24-04/23/24	WFMD-AM	10:00AM-03:00PM	60		3						3	91.00	3	273.00
9	04/23/24-04/23/24	WFMD-AM	03:00PM-07:00PM	60		4						4	91.00	4	364.00

Media Outlets: WFMD-AM

Station Totals

<u>Station</u>	On-Air CountDigital	Count	Web Count Other Coun	t	Gross BillingCommission	Net Billing		
WFMD-AM	32	0	0	0	\$2,912.00 \$436.80	\$2,475.20		
Totals	32	0	0	0	\$2,912.00 \$436.80	\$2,475.20		

Total Charges:

\$2,912.00

Agency Commission:

\$436.80

Total Net:

\$2,475.20

This station does not discriminate in the sale of advertising time, and will accept no advertising that is placed with an intent to discriminate on the basis of race or ethnicity. Advertiser hereby certifies that it is not buying broadcasting air time under this advertising sales contract for a discriminatory purpose, including but not limited to decisions not to place advertising on particular stations on the basis of race, national origin, or ancestry.

State of the same	der som kanne der der kommende in der kommende de der kommende er en er en de stade som de stade de de de stad De som kommende stade de som de de som de de som de so	CATROLOGICA (INC.) I Eletera (INC.) Proportion de la companie de la companie de la companie describbilità de l La companie de la co	көтүүнө сорсон соролго онс - өлгөөлө бөтөөтө бөтөөлөөлөөнөө оролгон оролгон гороор өрөгүүн голгон он он он он он	на зависивення выполнення выполнення в под мерене, что се что и се до 10 мого СВАО во водободило опосносного н	The second secon
		Projected Billi	ng By Broadcast Standard Mont	h	1
:	<u>Month</u>	<u>Year</u>	Gross Billing	Net Billing	
į	April	2024	\$2,912.00	\$2,475.20	3
	Totals		\$2,912.00	\$2,475.20	

KATZ MEDIA GROUP

125 West 55th Street

New York, New York 10019



Advertiser:

Larry Hogan for Senate

Order #:

176093779373

Contract #:

10515

Date Entered:

04/11/2024

Last Modified:

04/11/2024

Product:

Salesperson:

Larry Hogan for Senate

Christal National **Broadcast Standard**

Billing Cycle: Estimate #:

12116

Order Date Range: 04/24/2024 through 04/30/2024 (1 weeks)

Media Outlets: WFMD-AM

On-Air Schedule

#	<u>Dates</u>	Station	Time/Program	Len	Mo	Tu V	<u>Ve</u>	<u>Th</u>	Fr	<u>Sa</u>	Su S	5/W	Rate	Qty	<u>Total</u>
1	04/24/24-04/30/24	WFMD-AM	06:00AM-10:00AM	60	3	2	2	2	2			11	91.00	11	1,001.00
2	04/24/24-04/30/24	WFMD-AM	10:00AM-03:00PM	60	2	2	2	2	2			10	91.00	10	910.00
3	04/24/24-04/30/24	WFMD-AM	03:00PM-07:00PM	60	2	3	2	2	2			11	91.00	11	1,001.00

Station Totals

<u>Station</u>	On-Air CountDigital Count	Web Count Other	Count	Gross BillingC	ommission	Net Billing
WFMD-AM	32 0	0	0	\$2,912.00	\$436.80	\$2,475.20
Totals	32 0	0	0	\$2,912.00	\$436.80	\$2,475.20

Total Charges:

\$2,912.00

Agency Commission:

\$436.80

Total Net:

\$2,475.20

This station does not discriminate in the sale of advertising time, and will accept no advertising that is placed with an intent to discriminate on the basis of race or ethnicity. Advertiser hereby certifies that it is not buying broadcasting air time under this advertising sales contract for a discriminatory purpose, including but not limited to decisions not to place advertising on particular stations on the basis of race, national origin, or ancestry.

	Projected Billi	ng By Broadcast Standard Mont	h
<u>Month</u>	<u>Year</u>	Gross Billing	Net Billing
April	2024	\$1,638.00	\$1,392.30
May	2024	\$1,274.00	\$1,082.90
Totals	The second secon	\$2.912.00	\$2,475,20

KATZ MEDIA GROUP

125 West 55th Street

New York, New York 10019



Advertiser:

Larry Hogan for Senate

Order #:

176093779374

Contract #:

10516

Date Entered:

04/11/2024

Last Modified:

04/11/2024

Product:

Larry Hogan for Senate

Salesperson: Billing Cycle: **Christal National Broadcast Standard**

Estimate #:

12117

Order Date Range: 05/01/2024 through 05/07/2024 (1 weeks)

Media Outlets: WFMD-AM

On-Air Schedule

#	<u>Dates</u>	Station	Time/Program	Len	Mo	Tu V	<u>Ve</u>	<u>Th</u>	Fr	Sa	Su :	5/W	Rate	Qty	<u>Total</u>
1	05/01/24-05/07/24	WFMD-AM	06:00AM-10:00AM	60	3	2	2	2	2			11	91.00	11	1,001.00
2	05/01/24-05/07/24	WFMD-AM	10:00AM-03:00PM	60	2	2	2	2	2			10	91.00	10	910.00
3	05/01/24-05/07/24	WFMD-AM	03:00PM-07:00PM	60	2	3	2	2	2			11	91.00	11	1,001.00

Station Totals

Station	On-Air CountDigital Coun	t	Web Count Other Count	Gross	BillingC	ommission	Net Billing
WFMD-AM	32	0	0 0	\$	2,912.00	\$436.80	\$2,475.20
Totals	32	0	0 0	\$2	,912.00	\$436.80	\$2,475.20

Total Charges:

\$2,912.00

Agency Commission:

\$436.80

Total Net:

\$2,475.20

This station does not discriminate in the sale of advertising time, and will accept no advertising that is placed with an intent to discriminate on the basis of race or ethnicity. Advertiser hereby certifies that it is not buying broadcasting air time under this advertising sales contract for a discriminatory purpose, including but not limited to decisions not to place advertising on particular stations on the basis of race, national origin, or ancestry.

Constitution to the residence of the contract of the second section of the contract of the con	pakana aranggan karanggan dan dan pakanan karanggan	och e annamengang sampan som har mengen gar sampan sampan sampan sampan sampan sampan sa	DE DIGE E LAU STAGENDE MANGED TO COURT ON AND THE PROTECTION OF THE STATE OF THE COURT OF THE CO	er po engaje po se electrico della rossa della della composito della composita della composita della composito della composito della composita
		Projected Billi	ng By Broadcast Standard Mont	h
	Month	Year	Gross Billing	Net Billing
	May	2024	\$2,912.00	\$2,475.20
	Totals	deposits di ndent y, who are a complete serior and act decision consultation and an indenter town of the party of a	\$2,912.00	\$2,475.20

KATZ MEDIA GROUP

125 West 55th Street

New York, New York 10019



Advertiser:

Larry Hogan for Senate

Order #:

176093779375

Contract #:

10517

Date Entered:

04/11/2024

Last Modified:

04/11/2024

Product:

Salesperson:

Larry Hogan for Senate Christal National

Billing Cycle:

Broadcast Standard

Estimate #:

12118

Order Date Range: 05/08/2024 through 05/14/2024 (1 weeks)

Media Outlets: WFMD-AM

On-Air Schedule

#	Dates	Station	Time/Program	Len	Мо	Tu V	Ve :	<u>Th</u>	Fr	Sa	Su S	5/W	Rate	Qty	<u>Total</u>
1	05/08/24-05/14/24	WFMD-AM	06:00AM-10:00AM	60	3	2	2	2	2			11	91.00	11	1,001.00
2	05/08/24-05/14/24	WFMD-AM	10:00AM-03:00PM	60	2		3	3	2			10	91.00	10	910.00
3	05/08/24-05/14/24	WFMD-AM	03:00PM-07:00PM	60	3		2	3	3			11	91.00	11	1,001.00

Station Totals

Station	On-Air CountDigital Count	Web Count Ot	her Count	Gross BillingC	ommission	Net Billing
WFMD-AM	32 0	0	0	\$2,912.00	\$436.80	\$2,475.20
Totals	32 0	0	0	\$2,912.00	\$436.80	\$2,475.20

Total Charges:

\$2,912.00

Agency Commission:

\$436.80

Total Net:

\$2,475.20

This station does not discriminate in the sale of advertising time, and will accept no advertising that is placed with an intent to discriminate on the basis of race or ethnicity. Advertiser hereby certifies that it is not buying broadcasting air time under this advertising sales contract for a discriminatory purpose, including but not limited to decisions not to place advertising on particular stations on the basis of race, national origin, or ancestry.

granus da dagentes y pategraphem and	destinant de de visita de membrer en considérant visit. A 1995 població en en en el celebro de la composició d		ng By Broadcast Standard Mont		
77	Month	Year	Gross Billing	Net Billing	
	May	2024	\$2,912.00	\$2,475.20	
4. 3. 4. 2. 2. 3. 4. 4. 4. 4. 4. 4. 4. 4. 4. 4. 4. 4. 4.	Totals	Company of the Compan	\$2,912.00	\$2,475.20	